Find 5-y£and dy in the following cases:

() ¥y = ;i"_.'I_ITZ — 1 when I changes from 3 to 3.02

a=-n‘-| ' ["” 3*] x+8x=302 7
L Ox = = 3.02-%
§+5y- (':H-S"l)"‘ O = 3.02-3= 0.02
Sa (-x-\-gx)-l 'd
Sa- (1481) _/ x Y = (» -1-8'0- x
Sa (3 0'1) = 3 - 9.1204% -9 = 0. IQO‘t
Agalﬂ 4= x .
d(a) d(“ )

u (-1) Cl(l) ~2'7!le“0 — 2181
dy = 2(3)(0-02) = €(0-02) = 0.12 ¥



Find dy and dy in the following cases:

(i) v = 2° + 22 when x changes from 2 to 1.8

4= X t2x% ( K ]
ﬂ-rSd (-x+$-u)+2(1+8)

Sa (-x-;-g-;) +2 (2+8x) - 4
Sa ('x+81) %4}281 - X -—){ - bx - -02 .
ﬂ (|a) + 2(-02) - 2
_._.32‘|"04—4 = =16 7
ﬁga;n a-’x +21
o\a d(x +21) = d(x*) +d(2x)
cla Qxdx+2d% = 24%x + 8 x
dy: 2 (2)(-0-2)+2 (-0-3) = -0.8-0-4 = - 1.2, 7




Fmd 51/ and dy in the followmg cases:




Using differentials, find =2 and 9T in the following equations:

1 1z
(I) LY 4+ =4 . ay

f-l(‘xﬂ-t-x) - d (4)
d(xy) + A = ©
A da-}nd‘l +d-x = 0
XCIH: -ﬂCl'i --clx
7(0‘&: - (ﬂ-l—[) o

‘iﬂ_ ) - (‘Q‘H)
d'& B <
S



Using differentials, find %Y and % inthe following equations:

T ‘ = . dx d?_ )
(i) 22 + 29° = 16 _



Using differentials, find Y and % inthe following equations:

- o dx dy
(iii)) 2* + y* = zy° |



Using differentials, find Y and % inthe following equations:

('V) £y — Inr = ¢ dx dy

x E=
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Chapter 3
Use differentials to appoximate the values of: (iii) cOS 290 ‘M\

Ex 3.1

Lok 3
d-r it o ﬂga:m
[1:36, x +8x = R9 H=C051
Sl :2"['- = arﬁu = (a3 (‘Ii-S‘l)
Ox = Qﬂ‘-a& C{IS(I*S‘»): ni-Sa s a+du
Gx- — | Cos (146x) = Cos7 + (~ginx)§ x
: - . 0 o
s s (2) = 0430 - 530 (2004 — 7 rad ~ 0.01746 rad
cld z o (o) (0529 =~ 0.866 - 0- 5(—0.017%)
dd = =t Ch Cnsaﬂf ~ 0.86€ + 0.0087

v
dﬂ‘ - smx. 5 —0 w29 = 0.8741,



Chapter 3
Use differentials to appoximate the valuesof: (iv) s1n 61 . m

Ex 3.1

Zsn6l =sn(99-2F) = (s 29

L et u:: Casn Ao
(x:30 ][ x+81=29 N B
) r & =
bl o Cee -y a«rsd: Cos (48 )
v 29 -3d ) = g b = 4 oy
S'!: = |' Cbs('i*&t) ~ (o5 +(—sin1) 8 x
§ = &K “‘ os 29 x 38 - 5in3d (ooin4e) = = rad ~ 0.01746 rad
dy - d (co>x) (5529 = 0.866 - 0.5 (-0.01%4¢)
Oy = - simt ol 0529 = 0866 +0.0087
da: - siGn — @ 5]!16; ~ 0-81741

/



Find the approximate increase in the volume of a cube if the
length of its each edge changes from 5 to 5.02.
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